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B 15/9(PY)

il I FI o it =
SA | 2:45-4:15 YRR | dpsh/EyEt | FPK / WHIK/SKLI | PHY.L/402/DT.R
SB | 2:45-4:15 YR | hsh FPK / WHIK PHY.L/402
5C | 2:45-4:15 op 5 ek WHIK/SKLJ 402/DT.R
5D | 2:45-4:15 b 5 T WHJIK/SKLJ 402/DT.R
SE | 2:45-4:15 Bp /b sh/2%Et | FPK / WHIK/SKLJ | PHY.L/402/DT.R

i 19/9 (—) 20/9(7)

P S e [ e | we FEZE e =
SA | 2:45-4:15 o= SMK CHM.L o SRR T WHIK/SKLI 402/DT.R
SB | 2:45-4:15 {H2 SMK CHM.L Hhsi WHIK 402
5C | 2:45-4:15 oS R T WHIK/SKLI 402/DT.R
SD | 2:45-4:15 o SR RS E T WHIK/SKLJ 402/DT.R
SE | 2:45-4:15 = SMK CHM.L Hh 5E R R T WHIK/SKLJ 402/DT.R

g | 26/9(—) 27/9(=) 29/9 (PH)

ELH %1 | ZAfinitial SR ELH #4718 Zffilnitial PR ELH 24718 Fffilnitial SR

SA | 4:05-5:35 | #pF / sk | FPK /WHIK | PHY.L/402 {LE2 SMK CHM.L bz TKM HALL

5B | 4:05-5:35 | ¥j## / di5 | FPK/ WHIK | PHY.L/402 o= SMK CHM.L sz TKM HALL

5C | 4:05-5:35 rf 58 WHIK 402 b TKM HALL

5D | 4:05-5:35 th g WHIK 402 sz TKM HALL

SE_| 4:05-5:35 | ¥ / tpsh | FPK / WHIK | PHY.L/402 o= SMK CHM.L 15D'd TKM HALL
B 3/10(—) 6/10(PH)

i A T TR BTl =
SA | 4:05-5:35 =R LWM 401 U G FPK/SKLJ PHY.L/DT.R
5B | 4:05-5:35 =5 LWM 401 ZpE FPK PHY.L
5C | 4:05-5:35 B SKLJ DT.R
SD | 4:05-5:35 B SKLJ DT.R
5E | 4:05-5:35 I=H LWM 401 Y et FPK/SKLJ PHY.L/DT.R
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. 10/10 (—) 11/10 (7) 13/10 (P9)
WAl BFRS - - — — - - o — - — — —
BIE 21 | Effinital PR L E 4 7E Hifilnitial SRR BLE #415 FEifilnitial SR
SA | 4:05-5:35 == SMK CHM.L | &% / tpsh/ast | LKL1 / WHIK/SKLJ | 401/402/DT.R n= SMK CHM.L
SB | 4:05-5:35 (L& SMK CHM.L LA | g LKL1 /WHIK 401/402 {EE2 SMK CHM.L
5C | 4:05-5:35 g | s /EyEt | LKL/ WHIK/SKLI | 401/402/DT.R
5D | 4:05-5:35 g | s/t | LKL1/ WHIK/SKLI | 401/402/DT.R
SE | 4:05-5:35 == SMK CHM.L | &% / shsh/#=t | LK1/ WHIK/SKLJ | 401/402/DT.R (LE2 SMK CHM.L
N 17/10 (—) 18/10 (&)
P S e [ rame | e e - FiiTnital =
S5A | 4:05-5:35 | HrsE/E%ET | WHIK/SKLI | 402/DT.R et LWM 401
SB | 4:05-5:35 s WHIK 402 I=H LWM 401
5C | 4:05-5:35 | thsh/g%Et | WHIK/SKL] | 402/DT.R 402/DT.R
5D | 4:05-5:35 | Hsh/e%sT | WHIK/SKL) | 402/DT.R
SE | 4:05-5:35 | Hfsh/egat | WHIK/SKL | 402/DT.R =5 LWM 401
. 24/10 (—) 25/10 (=)
P B e Eem [ rame | e TEEAT - FiTnital =
5A | 4:05-5:35 | {BE/gEt | SMK/LWM | CHML.L/401 = SMK CHM.L
SB | 4:05-5:35 | {E&/&=t | SMK/LWM | CHM.L/401 {LE2 SMK CHM.L
5C | 4:05-5:35
5D | 4:05-5:35
SE | 4:05-5:35 | {bE2/grEt | SMK/LWM [ CHML.L/401 (L2 SMK CHM.L




